Pg 506-507 #11-13, 15, 17, 18, 21-24 AND
Pg 512-513 # 3-5, 12-15, 19, 20, 25, 27

11. vertical; 25

12. adjacent; 15

13. adjacent; 20

15.

17. 135°
18. 43

21. never

22. always
23. sometimes

24. always

3. sometimes; Either x or y may be
obtuse.

4. always; 90° + 90° = 180°

5. never; Because x and y must both be
less than 90° and greater than 0°.

12. complementary; 15
13. complementary; 55

14. supplementary; 31

15. £1=130° £2 = 50°,
Z3 =130°



19.

20.

25,
27.

80"

130°

54°
x=10;y= 20









Pg 518-519 #6-12, 27 AND
Pg 520-521 #1-17

6.
i
8.
9.
10.
11.
12.

27.

N N &AW A

right isosceles
equilateral equiangular
obtuse isosceles

right scalene

acute scalene

obtuse scalene

The triangle is not an acute triangle because

acute triangles have 3 angles less than 90°. The

triangle 1s an obtuse scalene triangle because it

has one angle greater than 90° and no congruent

sides.

a. green: 65; purple: 25; red: 45

b. The angles opposite the congruent sides are
congruent.

€. Anisosceles triangle has at least two angles
that are congruent.

91; obtuse scalene triangle

75; acute scalene triangle

90; right scalene triangle

94; obtuse scalene triangle

48; acute isosceles triangle

60; equiangular equilateral triangle
yes

no; 39.5°



10.
11.
12.
13.
14.
15.
16.

17.

no; 28 2
3

yes

67.5; acute isosceles triangle

60; equiangular equilateral triangle
24; obtuse isosceles triangle

25; right scalene triangle

35; obtuse scalene triangle

If two angle measures of a triangle were each
greater than or equal to 90° the sum of three
angle measures would be greater than 180°,
which is not possible.

a. 72

b. You can change the distance between the

bottoms of the two upright cards; yes; x must
be greater than 60 and less than 90; If x were
less than or equal to 60, the two upright

cards would have to be exactly on the edges
of the base card or off the base card. It is

not possible to stack cards at these angles.

If x where equal to 90, then the two upright
cards would be vertical, which is not possible.
The card structure would not be stable. In
practice, the limits on x are probably closer to
70 < x < 80.












Pg 528-529 #1, 3-25 odd

1.
3.

10.
11.
12.

13.
14.

15.

0 0 N O WU A

all of them

kite; It is the only type of
quadrilateral listed that does not
have opposite sides that are parallel
and congruent.

square
trapezoid
rhombus
kite

parallelogram

rectangle
65

110

128

58°




16
17

»
- // 135° 45°
L

18.
19.
20.
21.
22,
23.
24,
25.

»

75"

4 cm

always
always
sometimes
never
never

sometimes

See Taking Math Deeper.

’”

Quadrilaterals

\_ Rhombi

(  Parallelograms )

Squares

Rectangles /

Trapezoids




Pg 114-115 #4-9, 12-15, 23,24 4 306090

5. 40° 65° 75°
35°%,45°% 1007
25°%,45°%, 110°
44°, 48°, 88°
48°, 59°, 73°
12. 128°
13. 140°
14. 108°

15. The measure of the exterior angle
is equal to the sum of the measures
of the two nonadjacent interior
angles. The sum of all three angles is

w e N e

not 180°;
2x—12) =x+ 30
x=42

The exterior angle is
(2(42) — 12)° = 72°,

23. x=—4
24, y=—1



Pg 123-125 #5, 7, 10-11, 13, 16, 19, 24, 25, 28
5. 1260°

7. 360°

10. The right side of the formulais (n -
2) «180° not n - 180°.
§=(n—2)+180°

= (13 - 2) « 180°
=11 +180°
= 1980°

11. no; The interior angle measures
given add up to 535° but the sum
of the interior angle measures of
a pentagon is 540°.

13. 90° 135° 135° 135°, 135° 90°
16. 60°

19. The sum of the interior angle
measures should have been divided
by the number of angles, 20. 3240°
+ 20 = 162°% The measure of each
interior angle is 162°.
24, 54°,74° 78° 55°% 99°
25. 60°% The sum of the interior angle measures of a
hexagon is 720°. Because it is regular, each angle

has the same measure. So, each interior angle is
720° + 6 = 120° and each exterior angle is 60°.

28. 125°, 125°,55°, 55°



Pg 535-536 #1, 2, 8-17, 19, 30

1.

10.
11.
12.
13.
14.
15.
16.
17.

19.
30.

A scale is the ratio that compares
the measurements of the drawing or
model with the actual measurements.

A scale factor is a scale without any
units.

larger; because
2cm>1mm

100 mi
50 mi
200 mi
110 mi
751n.
151n.
3.84 m
21.6 yd
17.5 mm

The 5 cm should be in
the numerator.

lcm _ 5cm

20m xm

x=100m

24cm; lcm: 10 mm
a. $480

b. $1536

¢. tile; Because $5 per square foot is
greater than $2 per square foot,
the tile has a higher unit cost.












Name Date

[T Chapter 12 & 3 Review

12.1 - Adjacent and Vertical Angles

Name two pairs of adjacent angles and two pairs of vertical angles in the figure.

Mmf - LTHT + LIHK
LNAM [ MHL

Verkia! : L6HI & LLBK
J WAL & LTHT

Tell whether the angles are adjacent or vertical. Then find the value of x.

Y Y ==7 K ////
-2 D7 N

3x° bx # (-2) <50

2x°

A’»ftwf A%w,,,/— Adjacen?
% =15 x=76° x=5°

5) What are the measures of the other three angles formed by

nll =95° 132°
mlZ =/32°
ml 3 =¥8°

12.2 - Complementary and Supplementary Angles

For #6 & 7, tell whether the statement is always, sometimes, or never true. Explain.

6) Ifx and y are supplementary angles, then y is acute. Spezfiazs. 1 coddd oo L /‘/V'q/ ~
or obS%.

7) Ifx and y are complementary angles, then x is obtuse. Mevs,  Yiu can newr Aere
W py 2 M;é/

8) Angle x and angle y are complementary. Angle x is supplementary to a 128° angle.
What are the measures of angle x and angle »?

x=52°
g%



Tell whether the angles are complementary or supplementary. Then find the value of x.

9) 10)
o 2xO\(6x +20)°

<

65°
5x° :; 2 ﬁ%

r= 5"

e

v=70°

11) Find the values of x and y. Show all algebraic . 15/

work. <

2=

J

3.1 — Parallel Lines and Transversals

Sy°
13x°

>

12) Use the figure to find the measure of the angle. Explain your reasoning.

a) £3 =857 b) 5= 957
L3 1s yutnf fo L7 Vc//f'o/a,y@r
e 1Y cornegormaing anybs
ad L7 /s S)qrézibufiy
75
c) /6 457 d) s2:-25"

fy/l'u? wyéj /5 m//wf

Sl

L2 = ;7,4.17 A zym/ 2V

75"%@,6

ar/er/méy @é; .

6
13) Ifthe measure of £3 = 46°, then the measure of £6 = é/é .

Wh?  Hlrnetl crtocrr anplls  ere ay/w‘

o
14) If the measure of £5 = 102°, then the measure of £8 = / ﬂ/

Why? o il ayés @re ayxw.f

3.°
15) If the measure of £4 = 98°, then the measure of /7 = .

LY s syplmatey /o L3, an/ (L3 ;s
h L7 e a/nx/% @»47@1

aﬁmﬂ/

Nel[e)}
vl
°

rﬂ—imw—\



¢
16) If the measure of £6 = 59°, then the measure of /4 = gﬂ .

1/2
3/4
Why?  J4 /¢ w77 L3 Ay /5 5 /6
abbrnate  sAferror ﬂy ¢e p W-/ 5 ,= 78
Soys ALy
12.3 - Triangles
Classify the triangle.
17) 18) 19)
50°
205,
600 \ 600 650 650 32O 1 28°
Coprangvle fsosalds Scabne
/so50eteS Trisng .
Aok 77ioeyle g
Find the value of x. Then classify the triangle. Show all work.
20) X 21) X
35° 35°

Find the measure of the exterior angle. Show all work.

Y

22) 850 23) 45° (2x + 15)°
o - E Xt 95 = lx 5
< Y5 = art/5

/5’?0 20 = x

2oct/5 = 2(30H5)
=40 +/5

275" |




Determine whether you can construct many, one, or no triangle(s) with
the given description. Explain your reasoning.

24) atriangle with a 2-inch side, a 4-inch side, and a 5-inch side = A24¢ - < (&érw 74//;04/%
25) ascalene triangle with two 7-centimeter sides 4Z {0 - 4 5‘544.4 75’/4/1/4 cenyy

Jort 2 cngrutt slials.
26) atriangle with one angle measure of 100° and one 6-inch side My - T @M k]

e o ien S
12.4 - Quadrilateral M\/ 5/« /é_)’

Classify the quadrilateral.

27) 28) W 29)

. 1l
44 T

IS
14

WW / é/o /%/I/m LoAS

Find the value of x. Show all work.
30)

Fill the blanks using always, sometimes, or never that would make the following statements true.

32 A square is o/i/m/ 29 a rhombus. 33) A parallelogram is gau,éha{ a
/7 rectangle.

34) Akiteis Vit a square. 35) A trapezoid is nEer~ a square.




3.3 — Angles of Polygons

36) What is the formula to figure out the sum of all the interior angles of a polygon?

S=(n-2) /80

37) What does n-2 mean in the formula?

Z of 75;;%9ﬂ£; f%%;jz cen L et
Msdle. < /,% 1 777
38) What do is the sum of all the exterior angles in any polygon?

360°

Find the measures of the interior angles of the polygon.

39) S<tr-2)/50 40)
= (5-2) /89
= 3./80
=59
LHZ L W2+ %4 ZF I F 12 A RE f 06 £/20 -7‘-/02— 200
’ ¥ 399 = 59D EF b H = 70
¥=/% x =227

o o 6 c ®
229 409 02/° /3 5106
//—75”) //70) /OZOJ 75;;}/.7 ) ) / /

/ 29 ') /07 2
Find the measures of the interior angles of the polygon.
4l T 128° 42) 34°
XO
% =/06"°
126° X

! v [z«’H/}‘l



12.5 - Scale Drawings

Find the missing dimension. Use the scale factor 2 : 5.

43) Model: 10 km 44) Model: 5 in.
Actual:  ZS b Actual: /254

45) Model: Zet/ 46) Model: /57
Actual: 24 ft Actual: 32.5m

47) A scale drawing of a rose is 3 inches long. The actual rose is 1.5 feet long.

32/a _ m
a) What is the scale of the drawing? Vol | /44

b) What is the scale factor of the drawing? 'é,L
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